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SECTION 5.6: EXPONENTIAL FUNCTIONS

o Exponential Function

o Exponential Growth and Exponential Decay

o Common Base Property of Exponents: For b# 1, b5 = b7 if and only if S = T.
e Finance Applications
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SECTION 5.6: EXPONENTIAL FUNCTIONS

cponential Function

o Common Base
o Finance Applications
o

Pr 1. Rewrite each exponential expression as a single equivalent expression in the stated base.
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Pr 3. State the domain, range, end behavior, z-intercepts, and y-intercepts of each function.
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Pr 4. State the domain of each function. Write your answer using interval notation
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